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ENGLISH VERSION

Instructions :

(1) Marks are indicated an right side.
(2) All the questions are compulsory.

1 (a) State properties of normal distribution.

(b) In a normal distribution 69% of the observations are
more than 45 and 92% are less than 64. Find the

parameters of the normal distribution.

OR

1 (a) State used of normal distribution.

(b) For a normal distribution Q3=50 and Q;=30, then
find Mean, Median, Mode, S.D. and Mean deviation.
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2 (a) Explain : Trend.
(®b) Fit a y=atbxt+cx? by method of least squares. Find
estimated profit for the year 2006 :

Year 2001|2002 | 2003 2004 | 2005
Profit | 10 12 13 10 8
OR
2 (a) Explain : Analysis of time series.
(b) Find seasonal variations :
Year | Oy Oy 3 4
2010 |56 48 50 45
2011140 50 65 50
2012 (52 60 58 65

3 (@) Explain random sampling method. State uses of it.
b) N =2, 8, 10, 16, n = 3. Prove that population mean

is equal to mean of samples means. And also find
variance of sample means.

OR
3  Find the missing value :
Group | Numberof Samples | Mean | Variance | Sample size
A 60 8 — 10
B — 6 10 6
C — 9 4.5 3

N =100, y,, = 7.5, V(J,;) = 0.4905

4 (a) Explain : Types of association of attributes.

(b) Determine the type of association of attributes
between (1) o« and 3 (2) A and (3 by proportion
method :
(4) =240, (B) =480, (43) = 60, (3) =120

OR
4 (a) Explain : Proportion method, Method of Yule.

(b) Find Yule's coefficient of association by coefficient
of collignation.

N =170, (4) = 80, (B) = 120, (af}) = 20
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